https://www.cgboardonline.com

Name
ROIINO. I toeeeiiiieerereenienssraranrnacnnsasinnsansasas
T Arester / New Syllabus )
?ffam?fg@* $26] [P
' vestions : 26 ] [ Total No. of Printed Pages : 7
0-212203/803—C
faw : sta-faar
Subject : Biology
Y : 3 que | [ qoifs : 70
Time : 3 hours ] [ Maximum Marks : 70
e : () Wt g Tw ST

Attempt all questions.
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Use diagrams or flow diagrams if it is necessary.
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In Question Nos. 23 to 26, ixitemal options are given.

(iv) ST IREH T 9 T T 99F WE U wuiw faray |

Write correct question no. in your answer copy while solving the

Instructions :

(i7)

(iii)

question.
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Write the answer of the question paper as instructed.
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5 are very short ansWer type questions: Eac

Instruction @ (A) Question Nos. 1 to
question carries { mark. (Maximum word-limit of answer 15
1 word / 1 sentence)
gya-1 & Wf‘mﬁwsﬂm%? PN [1]
In which, liquid endosperm is obtained?
¥ [1]

W%maﬁmﬁaﬁﬁﬁaﬂ&wmﬁ

What are the unwanted plants that grow along with crop plant called?

gga-3  wra-fafifa (g;%rq}gagri‘mm:rmﬁf@qa 43 [1]

Write name of the man-made (artificial) insulin.

ﬁ?—mmﬁ%ﬁ?ﬁmmﬂmﬁ&hm%?

ystem 18 showing maximum stratification?

I

Which ecos
(1]

gya-5 BOD®H T am fafau
Write full name of BOD.
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6 to 10 are short answer type questions. Each

i : ()

: (B) Question Nos.

Instruction
question carries 2 marks. (Maximum word-limit of answer 1s-
30 words)
gA-6 9 LR ST 27 o
What 18 pollen pistil interaction?
qo-7 TR g ) W HC "

Explain silent genes.
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Instruction : (C)

ST frd e 2 2]
What 1s called Mutagen?
TE B Y O S R weeien St A & AW S Wied ey [1+1=2]
Write any two names of pathogens that cause protozoan diseases in human.
TEfTE T wEe # B Q et fatad [1+1=2]
Write any two disadvantages of genetically modified crops.
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Each

Question Nos. 11 to 22 ar¢ short answer type questions.
question carries 3 marks. (Maximum w

50 words) https://www.cgboardonline.com
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ord-limit of answer 1S

[1+1+1=3]

w-11
Write any rhiree differences between self-pollination and cross-pollination.
gya-12 @ PR @1 STAn Eitad § 7w aaE s [3]
Is the use of contraceptives justified? Give reasons.
TyH-13 F GG GEN A UF Ao S ¥ e g s W ®)
Svmfa Fa g 2 Fad ™ 99 g HaEu (3]
What will be the hercditary of the offspring when a normal male
marrics with haemophilic female? Explain it with only ray diagram.
wo-14 dF-Hi9 &1 3 3T Wiea wHERU o0 [142=3]
Explain the back-cross with suitable example,
qva-15  Uodre e wEd €7 3]
What is called Anticodon?
P.T.O.
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Explain any three types of Malaria disease.

Q@ﬁwmm%m%mﬁsﬁmmm%mﬁﬁ?ﬁ

Uyi-17
[3]

fFg w4 ?
Microbes can also be used as source of energy. If yes, how?

U¥T-18  Sa-TwIusR 1 O witra feooft fafaa (3]
Write a short note on Bio-patent.

WE-19 W Hia O § wER aifvs ©R F it ayfy F6 frerd § 2 gae @
qf{eRegd difea | (3]
Give three hypotheses for explaining why tropics show greatest
levels of species richness.

Uv-20 W Y@ U9 el §ie 9 @i a7 s fafa [1+1+1=3]
Write any three differences between food chain and food web.

UYA-21 GRSt % w13 Al sevd fafau [1+1+1=3]
Write any three objectives of social forestry.

- ' FFINTE ? . ‘
w-22  dfvas 3o gfig 1 Frfa s 79 B 39 frfigy [Yhx6=3]

What measures need to be taken to control global warming? Write

any six measures.
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nstruction : (D) Question No. 23 is long answer type question. This questio

4 marks. (Maximum word-limit of answer is 75 words)

uy-23 ﬂﬁﬂ'ﬁmﬁwﬁﬁw%?mmvﬂﬁﬂﬁaﬂﬁ e fafaw) [143=4]

What is Genetic Engineering? Write its any three significances 1M

human life.
3Herar
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What are transgenic animals? Why are those animals being produced?
Write any three reasons.
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Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

carries 5 marks. (Maximum word-limit of answer is /50 words)

WH-24  @E-VIfe T € 2 ISRV B S 1€ g e f F, N F frad
TR ¥ AL Y F A IEY 749 | gt A v [2+3=5]
What is co-dominance? How many types of phenotype and genotype

will be formed in F, generation? Explain the example with the help

of checker board.
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What is incomplete dominance? How many types of phenotype and
genotype will be formed in F, generation? Explain the example with

the help of checker board.

Eﬁhi‘ﬁm?ﬂaﬁﬁﬁ&wﬁaaﬁaﬁ#ﬁamﬂﬁmﬁﬁﬁmm
BLE [1x5=5]
Write any five uses of microorganisms with example in our daily life.

S7eraT
OR

wmmm%ﬁmmﬁwxawﬁm
mmm%?uﬁﬁ.?ﬁwﬁﬁm%mﬁmﬁwm%? [1+4=5)
Do you think that friends can influence one to take alcohol] / drugs?

If yes, how may one protect himself / herself from such an influence?

mmﬁmgﬂmﬂaﬁmmﬁmﬁmmﬁ@mﬁqu

T
g e fefe [2+3=5)
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Draw a labelled sketch of a typical embryo

function of the following :
(a) Eggcell
(b) Antipodal cells

(¢) Synergids

Draw a labelled sketch of a mature pollen grain and write one main

function of the following :
(a) Exine
(b) Germ pore

(c) Generative cell
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